e (¥E-10)
Math (Set 10)

|HYT : 3 HeT 15 THAe
Time - 3 Hrs 15 Minuts

TqE I A -

Choose the correct Answer :-

1.

03 F T 9 § @aH &9 €

=3 o 2 1
) 7o @ 5 W] 3
Sinplest form in rational formof (3is ..

2 > 1
® o I ©3
3+243 R
(%) afET =. @) g (M) = =
3+243 is

(@)Rational No. () Irraticel No.  (C)Fractional No.

TG x*+5% — 6 I 5 &l

@) 0 @ 1 @ 3
The degree of polynanial x°+5x—6 is

@0 b 1 ©3

fgoma gt &1 9% &9 2

(h) ax’ +bxtc @ a¥ -Ix+c
M af+bx+c=0, a: 0 M alf+c=0
Standard form of quadratic equation is .

(@ ax’ +bxtc ) at -Ix+c
() a@+bx+c=0, a: 0 (d) af+c=0
A. P. FINA TEETE WA R a, AR d @

@) a+ (1) d @ n-1)d M a+rd

Full Marks : 100

@2

M a-nd

The n™ term of an A.P. when first term is a and comman difference is d.

@ a+ @l d O h-1)d () a+rd
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14,

T+t 9q & 1

() T @) T () e (%) 9 § FE T

All circles are

(@) Congruent () Similar (c) Non - Similar (d) Nore of these

5P (-4,5) HYER 1

@) 4 @ 0 m -4 @5

The doscissa of Roint P(4,5) is

@4 © 0 © 4 @5

l+{an2A .

- TR B 1

(@) sec’ A @ -1 M cot? A (® tar’ A

1+ tan 4

mise:malto

(@) sec’A 0 -1 (€) oA (d) tarf A

TF g4 HI fpat o9l Yard & gt 2 1

@) 1 @ 2 @M ® 3

How many tangents can have a circle ?

@1 © 2 (© Infinity @ 3

it F qon v faswel % 9 F U e €l 1

Gh) 21 @ 1:.2 M1i:2 ®2:1

The Ratio between side and diagonal of a sauare is

@21 ) 1:2 ©1:2 @2:1

;—0 THF oo <YM TER 2 1

;—Oisa ................... cecinal eqarsion

TH I I TEIR oo Fead 2l 1

Rolymanial of dagreegeis@lled covevinn..

sin? 40° + cos? 40° TR wvnr.. T Tl 1

sirt 40 +aF 40 ISEIBITO vvvvrreinnnnneennn.

geft FATE SR e, e R 1
2

https://www.evidyarthi.in/



TEEh=3KX ...uvunnn —-2xHH 1
MoE=3%.iiieiinnnnn. — 2 xmean

B b € AP WBS caimisssssissi . 1
Ifa b carinA. P.teanb=.veeeeennnn.

I THT Bl oo, %8 5 2 1
Thele's thearamis aalled .. ........

forddt ga o Tael W B W i, et 21 1
hadrle@ETiS veveeeneenss atterdils

P =T E # WP (E) + P (E) = oo 1
RrayeatE P E) +P E)=..cccceueeee

Fd (0, r) "BV ¢ T TGS & WG A9 B 60 = 1
Inacircle (o, r) legthof correspadingsectorhavirgangley iS..vveeevenenn.....
Ifaere fasem Teifiem o 867 W 255 &1 H. €. A&t | g
Using Ecluid's Division Algorithum find H.C.F. of 867 and 255

A ETER Yy = p (x) & IS & 97 e | 2

Find the nurber of zerces of polynanial v=p (x) fran the following graph.

4 /o
/

—

4

ﬁwawamﬁaﬁwﬁwﬁnqﬁwm:ﬁ@%% 2

Fird quadratic polynamial if sumand product of zerces are 2 and% respectively.

a b c
j,jqﬁjﬁwm@mﬁ%ﬁwaﬁwwﬁr%mm
2 2 2
4 _ _
§x+2y—8,2x+3y—12 2
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27.

33.

a b

c

By camparing a_]’ b_l andc_] find the following equations are Consistent
2 2 2

orjlmwsistmt%x+2y=8,2x+3y=12

A. P. dWHTE R AR = 10, d = 10

Write first five tenms of A, P. if&=10,d=10

T THEY AHfaael I & I 3T ]

Give two exanples of pair of two similar figures.
sin” 63° +sin” 27°
cos’17° +cos® 73’

e e |

sin® 63° +sin* 27°
cos?17° +cos* 73°

Evaluate

UM YR o 5591 T9 90F S9E o et SoF Ud Yish o SFae &
I 3:1 B © | g W

Having sare radius of kase and equial height of cylender and core, the
ratio of wolures between cylender and cone is 3:1 Prove it.

JY U9 Wiehd HeAst w1 "ied e |

Find the mean of first five natural nurbers.

52 T4 I TSl W UH TEHT RIeH H Wifasar 9d & |

Fird the prabability of drawing an ace fram 52 cards.

3.5 cm WWWWWWWWI

Fird total surface are a of henisghere of radius 3.5 an.

015 =i UfHg Hem %1 oEd ¥4 § S8fa |

Carvert 015 in the sinplest ratianal no. form.,

g 99 %% - 2x - 8 % YA I (T |

Find the zerces of the quadratic polynanial ¥ — 2x — 8

T GEmEt & o H SR 180 T BRI HSA H a1 a€l GEAl H S
T B SH e fee |
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37.

The difference of two squares nunkers is 180 The squares of amaller rno. is
8 times the larger nurber find both mnbers.

A sihl B FEc gEAd 3 @ yoia: fawiied @ ¥

How many two digit nurcers are divisible by 3 .

fe@ ™ fe= 4 pE ||BC @ EC f@Te |

In the given figure [E|| BC find EC.

B Cc

fagd (5, -6) 3R (-1, -4) Fl St W@vE Y — 1% FI g
I o fasfoa wet 2

Fird the ratio inwhich the Y-axis divides the line segrent joining the
pairts (5, —6) ad (-1, —4)

fag =ifsg

cotA- cosA cosced- 1
cotA+cos A  cosecA+1

Prove that

cotA- cosd cosced- 1
cotA+cosd cosecA+1

BEIfhd 97T T &A% HG HITT A% Gh= gdl &I AT HHEI: 7 cm

Td 14 cm @9 P Aoc = 40° 2

Firnd the area of shaded region of raddii of concentric circles are 7an

and 14 an respectively and DRoc = 40",
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afg A, B, ¢ s ABC & & ®iw ? qf feed fF | 3

. ®B+Co A
sin g ~=C0S—
2 © 2

If A, B, and C are three angles of a triangle ABC then show that

. a&B+Co A
sin g <= COS—
2 9 2

T T I TH 9K el S 7 | 2 3R 6 % s feom wE wem o &
1 WifgeRar € ? 3
A die 1s thrown once. what is pracabi lity of caming any nurber 1ying between
2and 6 ?

A e 3
Yredieh 20 29| 28| 33| 38| 43| 25| 42| 9

THREA 6 28] 24 15 4 1 20 |2 | 100
Find median
Marks 20 | 29| 28 |33 [38 |43 |25 |22 |1otal

No. of Students | 6 28 (24 |15 |4 |1 |20 | 2 | 100
e fafy | ga &Y 5
X+3y= 6

2% -3y =12

Solve by graphically Methed

X+3y= 6

2x -3y =12

TH 80 m. W GSH b A AR FHA-HEA FHH TG Al § T ohl g 2l 3

I N ® = qgF P TF fag 9 @S ® R & ST w0 HE: 60° 3R 30°
T T H FEE O w9 fag w1 gl T W 5

Two poles of equal heights are standing coposite each other on either side of the
road which is 80 m wide. Fram a point between them on the road the angles of

elevation of the top of the poles are 60 ard 30° regoectively. Fird the height of the
poles and distance of the point fran the poles.

afz fRet 99 &1 T o1 & FARR o= J1 senetl 1 fy=1-fa= fagetl w ufa=ss
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FE & AU Tk T T S @ 9 o @ e U @ ea | fawfsa @ s
21 fag =% 5

If a lire is drawnparallel to ae sice of a triamgle to intersect the other two sides in
distinct points. The other two sides are divided in the sare ratio. prove it.
FEE 220cm SR YR A9 24 cm el Th S, 59 W F9E 60 cm @R B

8 cm 9 TH 379 9o ARG €, § @ &1 TF WY 99 21 70 TY F 391
A HIfS Safek fGa & fF 1em® @R &1 599 sgm =4 81 (p = 3.14) 5

A solid iron pole consists of a cylinder of height 220cm and base diameter 24am
which is sumounted by another cylinder of height 60 anarnd radius 8 an. Find the
mass of the pole given that lar’ of iron has approximately 8 gnmass. (p = 3.14)
199 ABC @i fSH AB = 5cm , BC = 5 cm 3R CA = 7 cm 39 BIgel & o/ o
i | 5

Draw a triangle in which AB = 5an, BC = 5am and CA = 7an. Draw an incircle of
thiscirdle.

https://www.evidyarthi.in/



23,

SWANsSwer

1. 2. @ 3.0 4. @)
5. @) 6. @ 7. 8. ®
9. @ 10. @ 11. 5 12, sk Tg.
137 14. 96T 15. Wi
atc .
16. — 17. STERSA GHEAI R TH5 18. ol
prq
19.1 20. 1307

Ifere faarem weifien fafy @ ¥em 867 wd 255 &1 1. 4.
867 = 255 * 3+102
255 =102 * 2 +51

102=51 " 240
37q: 867 WA 255 I H. H. = 51 Ans.

e T oeRg # SER Hfeh WE T — el I dhed U fag W At wd @
THfeTT YR H 1B

- <

v

Y

S HAMFA = 5 +B=42

: : 1
[ & POHRA = d B:E

fgoma sgu= b x’- (@ +B)x+a B
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24.

25.

fe& T g

b x*- (\/E)er%
p xz-JEx+%
4

—x+2y=8

3 y

\ %x+2y-8=0

2x+3y=12

\ 2x+3y-12=0

FHIRTOI ST S & ax + by + ¢, =0

%X+@y+%20

fe T iR % A0 T Y ol FH Wa, = 4/3, b, =2, c, = -8

4
&

%]
w | N

I 71 _9

\ a % L)

a1q : T T g sAfEd (Hd) )

A. P.Ha=10, d=10

Tecl 9 a, =a =10

M ®a, = atd = 10 + 10 = 20

WA Ra, =a+2d=10+2 - 10=10+20 =30
FFHRa, =at3d=10+2 " 10 =10 + 30 = 40
T a, = a+dd = 10 + 4 - 10 = 10 + 40 = 50

9

=2, 583, ¢ =1
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26.

27

28.

T IEEY Hfaa TH F I
(i) 1 o oT9"  9HEy B
(ii) = 399 ¥ THET 2|

sin2630+sin2279  sin?63%+sin(90°- 63°)
c0s217%4c0s273° ~ cos217%+cos%(90°-1700)

_ sin?63%+c0s?63 i e §
" cos2170+sin2170 " > 0q)=cos g, cos B0 ) =sing

—_ ] —
]
e

=12ns.
M foran foF aeq & SuR 1 559 r 3% U9 S9E h SHE © |
ol ¥k b1 5591 = r ShIE T H9E = h THE

) : 1
I FT AT = p £’ h T TR, VG F A = 7 p r’h T IPR

e e I i i S A2 & W=

Yich 1 T éprzh‘q:{m

I¢E_H IFAd 3

Yieh, h1 3T 1
9 Ui Wehd GEAW 1, 2, 3, 4, 5 B
e =  GEASd H1 Hel AT

\ e I ST ; Y I A = 3 ;1

HA "&A
14243+445 15 _,
- 5 5
T (y) =3

AV H TS HFATI R E. = 52 TFh hl HA 9. — 4
3Td: AR I TSS! ¥ Uk UFR! (hrer i Fifenan

= O Bl TS A TaDT DI G 9.

arer 3 TSI A U<l Dl fd W

52 13 10
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3. T W agme # B r = 3.5 cm
AEMA B HOI TS H 0 = (2priipr’) T OTHEE
= 3p r? o K THE

= 3 2?—2 35¢m” 3.5¢m

=37 22 " 0.5cm " 3.5cm

= 115.5 cm?
32. WHfea@ o x = 0.75
P x=0.151515........ (1)
P 100" x=0.151515........" 100 (100 ¥ Sl T TOT HE W)
P 100 x = 15.151515 v uuurvrnnnnnnnsennns (ii)

(ii) ¥ 9 (1) & LA W
vV 99 x = 15

_ 5_5

P X = 5 33
\x=i
33

Frgatrm—i

33

33. f&@ T fgomd @gug = x* - 2x - 8
b M 4Ax + “Eh- 8
P x (x-4) + 2 (x-4)
b (x-4) (x+2)
\ X2—2x—8?m'l“’ﬁ'l.'m"%%rq
X -—4=0 AAx+2=0
px=0+14 p x=0-2
b x=4 p x=-2

\ YEh = 4, - 2
11
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34.

35,

aHfern foh ) HEd x iR y ® e x @€t gem u y s wem B

x? - 18x+10x - 180 = 0

p
b
p
P x(x -18) 410 (x - 18) =0
p (x-18) (x - 10) =0

p x - 18) =0 A x +10 = 0

p x =18 =0 x = -10 §9a &I
x = 18 &I AN (ii) ¥ WH W

= 8x = 8" 18 = 144

qN, y? = 144

\ ¥P = 144 = £ 12

\ SEI 90 = 18, Bl €0 = 12, A &SI W0 = 18 BRI & = - 12

T SRl R GEAd o 3 9 qufa: farfea @ f @
12, 15, 18 cceerrvrernenn. 99

A, p. GBI NER UM TR 2 = 12
IR d = 15 - 12 = 3

HiH 9 a2, = 99

a =a+ (n-1) d
p 99 =12+ (n-1) * 3
p 99 -12= (n-1) * 3
p87=(-1) * 3

L .
b3—(n—)

12
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36

38.

\ n=29+1=30
37q: /A FE&AW = 30
f&an g3 ® DE || BC

\ o THE 9
AD  AE

DB EC 1.5om 1E°“

1.5¢m lem 3em

3em B EC

- 3em” lem )
= = icm
P 1.5¢m

EC =2 cm

HEfer fof v - 31 fagell (5, - 6 ) W (-1, - 4) FISISERT WEE k : 1 & A
H fawfsa &t 2l

\ faSH g ¥ 39 W@EvE H k ;1 % UM ° g s fag &
oot B

e k+5 -4k- 65

Erk+1 k+1 0

gy - MM RAARZINETATHEHy - TR YT x = 0 eE@TLl

k+S_
k+1

\

p — 186 =0 p k=5%
I (k1) =5: 178

cot A- cos A

L.H.5. =
cot A+cos A

13
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5

cosAs - 1=
sind @
= 1 pes
cosAg +12
sind @
! 1
sin A
fr— .l +1
sin 4
B cosecA- 1 A a0
< emeedwr | s SRRVE

39. 98 gd i B9 = R = l4cm
Sea@EE &1 &I = g = 40°

a2 fisa@s oac &1 g4a%a

i 2 S
pRq _ = 14714740

360° 360°

B I@E OBD #1 4T = };goqo (BR gd &l &5 = r = 7 cm)

277 400 gl |,
= = O
360° 7

\ BHEIfha 9 1 &% = 98 a@us OAC T &% - B s
OBD h1 &F%ha

22 S | 22* 7,

cm® - cm
9 9
616 , 154 ,  616-154
= —Cm - —Ccm = —CH
9 9 9
— ﬂcmz - ﬂc =51.33cm
9
14
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40.

41.

42.

&9s aBC #
ba + P B+ DPc = 180°

\ P B+ P C=180°-A

PR+DC 180° A

b z s=—=% (A TWF 2 ¥ 9 1 W)
E)B+BC_ , A _
—2 = 90°% - 5 T (1)
T WH sin o W
. @B+Co _ , A
Sin & ) 5= sin (90 —?)
4 ; 0
= cos 5 (Sin(90"-¢g ) = cosgq )
&B+Co

: A
5 — Cos & proved

\singzé

S Ueh U I ekl ST ® Al el YW 9ROMH 123,456 € 1d a6 2|
2 3R 6 % ofta feord |0 = 3,4, TH 5 © IUfd Hot Huw wfom 3 7

5 2 3R 6 B T feor T A Wi - %%
PlIED foemetfai =t 4. Tadt IRER
(q@d FH W) £
20 6 6
25 20 26
28 24 50
29 28 78
33 15 93
38 4 97
42 2 99
43 | 100
N = 100
TN = 100
% = % - 50 = 99 B

15
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TSN (N B
Hd: Ech] = > GT'QHQE gaTq?(‘q;"[ﬂT%Z[
= 509 TS 51 ° 9 1 HEA

FET 50 & 95 28 WH 51 &f U8 29 %

1 1

HITeehT = 5 (28+29) = = 57 = 28.5

HIfeT=h] = 28.5

X+3y=6-—-—-- (1) 2x-3y=12 —-—=——-————-
(1i)

6-x 2x-12 n T
\ Y= T \ v =T L
FEROTH ] B AL il i o 1
x| 063 x|0 |63
y 20 1 y-4 0-2
o
3 -2
I GRUT 9F &l AH TR W
W | THE T @3 Hl 3ed !
w1 He fag (6, 0) fooman & ' 4

A R R EAx = 6, v = 0

a1 foF WM SEE hm ® 3 @H AB 3R CD ® BD HSH i HISE 80 m 2l
HeHh & o fag 0 W AB 3R CD &1 &1 I=1F IV HAW: 60° T 30° 2

AMHROB=xm \ OD= (80 - x) m A ¢
A ARO H,
h
tan 60° =L i hm
OB
a0 300

h e D
b \/5 =— =SR-SR

X

16
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45.

\h=xJ§m ............ (1)

Acpo #®

tan 30° = o

an = oD
R

P57 %0-x

k="

(i) 3 (1i) 9
80- x

x V3 ="J

pxﬁ'ﬁzBO—X
P 3x = 80 - x
P 3x + x = 80
P 4 x =80

80

\ x=7=20m

x HAF (i) HWH Wh = x3m =20 3 m

3T TY HT HEAE = 20 Bm

T @Y "EHh b fag I qh = x = 20 Wo

\ TR EH g HEF h fag i g =0D=80m - 20m =60 m

HHferan f T et fean @ e s Be % wHRR i T T e o= |
el AR 3R AC W HHY: D AR E W Hd 2l

AD AE
g & % IE2) E—E

FAEE - B AR E @ ¢ 3R D I T4 TS DMA AC AT ENA AB @ |
JHTOT - A ADE H

17
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1 1
A ADE T &0 = 5 M0 © FO = —AD © EN
1
\ ar (AADE) = - AD ° EN
A BDE H
1
ar (A BDE) = 5 DR EN
1. ,
—" AD " EN
ar(AADE) 2 4D
\3qa: —= l ] : —— _U_)
ar(aBDE) 5 DB EN DB
T YR
1
ar (A DEC) = 7 *EC * DM
1
ar (ADE) = - * AE * DM
e E
— " AE" DM
ar(AADE) 2 AE B
¥ ar(aDEC) R

9fh ABDE T8 ADEC U & YR DE q HR WS BC Td DE & o9
¥4 < frqe & 921 DE ||BC |

\ ar (ABE) =ar (AEQ) (iid)
(1) (ii) W& (iii) QEHUG B

AD  AE
ﬁ= E T2t fag & o

46. e oM i e v, = =2 = % cm = 12 cm

h, = 34 = 220cm
TE! S W1 3TRIGH = p k= 3.147 12cm © 12cm © 220 cm = 99475.20 cm?
39 W ARG oo 1 B v, = 8en,

18
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47.

h2 = ﬁ'l’é = 60cm.

39 A H ST = p 1, h

2
= 3.14" 8cm "~ 8cm © 60 cm
= 12057.60cm’
3d: WH I hel A™AT = 99475.20cm?+12057.60cm?
= 111532.80cm?®
lcm® ©IR o1 S 8 gm 2|
\ 111532.80cm’® @@ I FFAA = 111532.80 " 8gm
= 892262.40gm

B 8922640 )
- 1000 g =
892.26 kg

T % =

(i) Wed 9=l ¥ Th AABC &d @1

(ii) B9 & 9 F01 B 3R ¢ TEigHKM FW 21 89H wfa=ss fag o 2
(iii) 0 ¥ 0D, BC W &4 STeT |

(iv) O %l %5 AL 921 oD 553 @it T 9q @i | 98 9d AABC i ol
IS Hl WY wEM | FE & 94 2

*xk

19
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